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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate
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Select the figure which does NOT belong to the group.
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Common salt (NaCl) is made up of:
TF Aqd IFA AN TF FASAN &N

Ans
/<, astrong acid and a weak base

THF FHAR IFT 3T TF FAAR &7

<. aweak acid and a weak base

TF FAAN IFA AR TF Astgd &N
<3 aweak acid and a strong base
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v, astrong acid and a strong base

Q4 It oifiT T pH TR T &

The human body works within the pH range of:
3)



Ans

Q.5

Ans

Q.6

Ans

(4)



<3
<4,
Q.7
Ans ?j;
<3,
<4,
Q.8
Ans '!’1.?

®)



(6)



Q.10

Ans

Q.11

Ans

(7)



Q.12

Ans

Q.13

Ans

(8)



Q.14

Ans

Q.15

Ans

Q.16

Ans

©)



<
x4,
Q.17
Ans i;
£
x4,
Q.18

Ans

(10)



Q.19

Ans

Q.20

Ans

(11)



Q.21

Ans

Q.22

Ans

Q.23

(12)



Ans

Q.24

Ans Xl_

Q.25

(13)



Ans

(14)



O L .
Q26 Pl act # & et gor 3 #er 3t ol Fam ¥ s soe

Which of the following elements has a total of 3 shells with 8 electrons in the last orbit?
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From the given four figures choose the correct mirror image for the problem figure when

the mirrar ic nn AR line
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Select the figure that does NOT belong in the following group.
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Yayati sold an item at a loss of 13%. If he had sold it for ¥ 49 more, he would have made
a profit of 22%. What should be the selling price of the item to gain a profit of 30%?
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Saathi deposited ¥ 825 in a bank that promised 8% simple interest per annum. If Saathi
kept the money with the bank for 5 years, she will earn an interest of :
Ans V) % 330
XQ_ <480
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X, T 2,034
15,18 31T 24 &7 o §. FAT M7

The LCM of 15, 18 and 24 is:

Xl_ 3

X5 540
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v, 360

T 7@ Fla @ 1 & 20 T T F 37T 3k 4Tl 87
Which of the following is the prime number series from 1 to 20?
<1123 5 7, 11,13, 17, 19

N 2,5,7,9 11, 13,17, 19

N3 3,9, 7,11, 13, 17, 19

v, 2 3,5 7,11, 13, 17, 19

Sales of Bikes in India as per the Colourin
2009
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Blue Green Golden Brown Black silver White Red Yellow
2009 # AT # TT & HJAR argent @1 fashr-
Blue- Arelr
Green- g

Golden- Gegam
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Sales of Bikes in India as per the Colourin
2009
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Blue Green Golden Brown Black silver White Red Yellow

If the total number of bikes sold in 2009 was 50000, then by what number was the sales of
white bikes less than that of yellow and red bikes put together?
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